#### October 27 Math 2306 sec. 51 Fall 2021

#### **Section 15: Shift Theorems**

**Theorem: (translation in s)** Suppose  $\mathscr{L} \{f(t)\} = F(s)$ . Then for any real number *a* 

$$\mathscr{L}\left\{e^{at}f(t)\right\}=F(s-a).$$

In other words, if F(s) has an inverse Laplace transform, then

•

$$\mathscr{L}^{-1}\{F(s-a)\}=e^{at}\mathscr{L}^{-1}\{F(s)\}.$$

October 25, 2021 1/19

イロト イポト イラト イラト

#### Translation in t

We defined the unit step function

$$\mathscr{U}(t-a) = \left\{ egin{array}{cc} 0, & 0 \leq t < a \\ 1, & t \geq a \end{array} 
ight.$$

And then we considered the product  $f(t-a)\mathcal{U}(t-a)$  for *f* defined on  $[0,\infty)$  and a > 0.

$$f(t-a)\mathscr{U}(t-a) = \begin{cases} 0, & 0 \le t < a \\ f(t-a), & t \ge a \end{cases}$$

October 25, 2021 2/19

э

.

イロト イポト イヨト イヨト

#### Theorem (translation in *t*)

If  $F(s) = \mathscr{L}{f(t)}$  and a > 0, then

$$\mathscr{L}{f(t-a)\mathscr{U}(t-a)} = e^{-as}F(s).$$

Equivalently  

$$\hat{\mathcal{I}} \left( \hat{e}^{as} F(s) \right) = f(t-a) \mathcal{U}(t-a)$$

October 25, 2021 3/19

イロト イポト イヨト イヨト 二日

# Find $\mathscr{L}{\mathscr{U}(t-a)}$ for some aro. By definition $n(t-a) = \begin{cases} 0, ostea \\ 1, t \ge a \end{cases}$

$$\mathcal{L}\left\{u(t-a)\right\} = \int_{0}^{\infty} e^{st} u(t-a) dt$$

$$= \int_{0}^{a} e^{st} \cdot 0 \, dt + \int_{a}^{b} e^{st} \cdot 1 \, dt$$

$$= \int_{\infty}^{\infty} e^{zt} dt$$

T= E-a => E= T+a

< □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □

when 
$$t = a_{j}$$
,  $\tau = a - a = 0$   
as  $t \to \infty$ ,  $\tau \to \infty$   
 $\mathcal{L}\left\{\mathcal{U}(t-a)\right\} = \int_{0}^{\infty} e^{s(\tau+a)} d\tau$   
 $= e^{as} \int_{0}^{\infty} e^{s\tau} d\tau$   
 $= e^{as} \mathcal{L}\left\{1\right\}$   
 $= \frac{e^{as}}{s}$ 

-s(t+a) C
= - ST - SA = e . e
- as -st = e e

# Example

Find the Laplace transform  $\mathscr{L} \{f(t)\}$  where

$$f(t) = \begin{cases} 1, & 0 \le t < 1 \\ t, & t \ge 1 \end{cases}$$

(a) First write *f* in terms of unit step functions.

$$f(t) = 1 - 1u(t-1) + tu(t-1)$$
$$= 1 + (-1 + t)u(t-1)$$
$$= 1 + (t-1)u(t-1)$$

イロト イポト イヨト イヨト

э

6/19

October 25, 2021

Note that if 
$$g(t) = t$$
  
then  $g(t-1) = t-1$   
so  $(t-1)U(t-1)$  looks  
like  $g(t-1)U(t-1)$   
where  $g(t) = t$ .

# Example Continued...

(b) Now use the fact that  $f(t) = 1 + (t-1)\mathscr{U}(t-1)$  to find  $\mathscr{L}{f}$ .

$$\mathcal{L}\left(f(k)\right) = \mathcal{L}\left(1 + (k-1)\mathcal{U}(k-1)\right)$$

$$= \mathcal{L}\left(1\right) + \mathcal{L}\left((k-1)\mathcal{U}(k-1)\right)$$
see t
$$= \frac{1}{5} + \frac{e^{15}}{5^{2}}$$

$$= \frac{1}{5} + \frac{e^{5}}{5^{2}}$$

· 클 ▶ ◀ 클 ▶ 클 ∽ ९.여 October 25, 2021 8/19

# A Couple of Useful Results

Another formulation of this translation theorem is

(1) 
$$\mathscr{L}\lbrace g(t)\mathscr{U}(t-a)\rbrace = e^{-as}\mathscr{L}\lbrace g(t+a)\rbrace.$$
  

$$\Im(t) = \Im(t+a - a)$$
Example: Find  $\mathscr{L}\lbrace \cos t \mathscr{U}\left(t-\frac{\pi}{2}\right)\rbrace = e^{-\frac{\pi}{2}s}\mathscr{L}\left(\operatorname{Cos}\left(t+\frac{\pi}{2}\right)\right)$ 

$$= e^{-\frac{\pi}{2}s}\mathscr{L}\left(-\operatorname{Sin}t\right) = -e^{-\frac{\pi}{2}s}\frac{1}{s^{2}+1}$$

Cos (A+B) = CosA CosB-SinA SinB Cos (H+ 三) = Cost Cos 三 - Sint Sin 三 = - Sint

October 25, 2021

9/19

# A Couple of Useful Results

The inverse form of this translation theorem is

(2) 
$$\mathscr{L}^{-1}\{e^{-as}F(s)\}=f(t-a)\mathscr{U}(t-a).$$

Example: Find 
$$\mathscr{L}^{-1}\left\{\frac{e^{-2s}}{s(s+1)}\right\} = f(t-z)\mathcal{U}(t-z)$$
  
Here  $a=z$ , we need to  $kn \cdot w$  what  
 $f(t)$  is.  
 $f(t) = \tilde{\mathcal{L}}\left(\frac{1}{s(s+1)}\right)$  This requires a  
particle fraction  
 $decomp$ .

October 25, 2021 11/19

$$\frac{1}{S(S+1)} = \frac{A}{S} + \frac{B}{S+1}$$

$$l = A(S+1) + BS$$

$$set \quad S=0 \quad l=A \implies A=1 \text{ and } B=-2$$

$$f(t) = \tilde{\mathcal{I}}\left(\frac{1}{S(S+1)}\right) = \tilde{\mathcal{I}}\left(\frac{1}{S} - \frac{1}{S+1}\right)$$

$$= \tilde{\mathcal{I}}\left(\frac{1}{S}\right) - \tilde{\mathcal{I}}\left(\frac{1}{S+1}\right)$$

$$= l - e^{t}$$

October 25, 2021 12/19

・ロト・西ト・ヨト・ヨー つくぐ

$$\mathcal{L}^{-1}\left\{\frac{e^{-2s}}{s(s+1)}\right\} = \int (t-z)\mathcal{U}(t-z)$$
$$= \left(1 - \frac{-(t-z)}{e}\right)\mathcal{U}(t-z)$$

< □ ▶ < □ ▶ < ■ ▶ < ■ ▶ < ■ ▶ = のへで October 25, 2021 13/19

# Evaluate the Laplace tranform of the function pictured



Figure: Graph of y = f(t). Note: This is exercise 2(b) from section 13 of the workbook.

Write f in terms of unit steps.

f(t) = t - tu(t-1) + 1u(t-1) = + (2 + 2) = > 2

October 25, 2021 14/19

$$\mathcal{L}\left(f(t)\right) = \mathcal{L}\left\{t - tu(t-1) + u(t-1)\right\}$$

$$= \mathcal{L}\left\{t\right\} - \mathcal{L}\left\{tu(t-1)\right\} + \mathcal{L}\left(u(t-1)\right)$$

$$= \frac{1}{5^{2}} - \frac{e^{5}}{5}\mathcal{L}\left(t+1\right) + \frac{e^{5}}{5}$$

$$= \frac{1}{5^{2}} - \frac{e^{5}}{5}\left(\frac{1}{5^{2}} + \frac{1}{5}\right) + \frac{e^{5}}{5}$$

$$= \frac{1}{5^{2}} - \frac{e^{5}}{5^{2}}$$

$$\mathcal{L}\left(g(t)u(t-a)\right) = e^{as}\mathcal{L}\left(g(t+a)\right)$$

#### Evaluate

 $\mathscr{L}\left\{(t^2-e^{3t})^2\right\}$  $(t^2 - e^{3t})^2 = t^4 - 2t^2 e^{3t} + e^{5t}$  $\mathcal{L}((t^2 - e^{3t})^2) = \mathcal{L}(t^2) - 2\mathcal{L}(t^2 e^{3t}) + \mathcal{L}(e^{\delta t})$  $= \frac{4!}{5^{5}} - 2 \frac{2!}{(s-3)^{3}} + \frac{1}{s-6}$  $=\frac{41}{5^{5}}-\frac{4}{(5-3)^{3}}+\frac{1}{5-6}$  $\mathcal{J}\left\{t^{2}e^{3t}\right\} = F(s-3)$  where  $F(s) = \mathcal{J}\left\{t^{2}\right\} = \frac{2!}{5^{3}}$  A B > 
 A B > -A D M A A A M M

October 25, 2021 16/19